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Question 1 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
For each question, four options are given. One of them is the correct answer. Make your choice
and choose the correct answer below. (56 marks)
Which one of the following is not a living thing?
A)
B)
C)
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v’ D)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 1st Aug 2021
Last Modified: N/A
QID#: 28,587,575
Question 2 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

& enall hides kealf in s shall whan louchead.

This shows that the snall is a living thing because it can

A) grow
B) move
v' C) respond

D) reproduce
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v A)

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 3

Multiple Choice
No

Sun 1st Aug 2021
N/A

28,587,579
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Primary 4 Science » Primary 4 Science (Term 4)

The table below shows haw some Bang things can be grougesd,

Living Things |

— ]

| replilss

Wihich one of the following is the most suilabls heading for group X7

birds
B) insects
C) animals

D) mammals

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 4

Multiple Choice
No

Sun 1st Aug 2021
N/A

28,587,684
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The desgram shows 8 peir of scissens

Metal is used {o make the blades of tha scizsors hecavse metsl

v" A) s strong
B) is not waterproof
C) bends easily without breaking

D) allows some light to pass through

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Sun 1st Aug 2021
Last Modified: N/A

QID#: 28,587,744

Question 5

The diagram shows the life cycle of a plant,

@I

What is the stage marked X7

A) egg
B) seed

C) adult plant
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¥v' D) young plant

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 6

A) frog
v B) beetle
C) chicken

D) cockroach

Question Type:
Date Added:

Last Modified:
QID#:

Question 7

Randomize Answers:

Multiple Choice
No

Sun 1st Aug 2021
N/A

28,587,751

Which animal has a pupa as a stage in its life cycle?

Multiple Choice
No

Sun 1st Aug 2021
N/A

28,587,756
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Primary 4 Science » Primary 4 Science (Term 4)

Which one of the following properties is true for both air and a marble?

A) They can be seen.
v B) They occupy space.
C) They have definite shapes.

D) They have definite volumes.

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Multiple Choice
No

Sun 1st Aug 2021
N/A

28,587,760

Question 8
Which one of the following is a source of light?

v A)
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B)
The moon
C)
A leaf
D)
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sun 1st Aug 2021

Last Modified: N/A

QID#: 28,587,769

Question 9 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which organ system is shown in the diagram?

A) skeletal system
B) digestive system
C) muscular system

v D) circulatory system

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Sun 1st Aug 2021
Last Modified: N/A

QID#: 28,587,775
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Question 10

A) Aglass rod
v B) A metal rod

C) A plastic rod
D) A wooden rod

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11

Which one of the following is the best conductor of heat?

Multiple Choice
No

Sun 1st Aug 2021
N/A

28,587,778
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Primary 4 Science » Primary 4 Science (Term 4)

The table shows Tanya's answers to three quastions about matier,

Question Answer
A | Dees il have mass? o Yes
B | Does it occupy Epﬂn;i‘- 3 Mo
C | Can it sxist as a solid, a liquid or a gas? Yes |

A) AandB only
B) B and C only
¥" C) Aand Conly

D) A BandC

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12

Multiple Choice
No

Sun 1st Aug 2021
N/A

28,587,805

Which of tha questons were answered correctly?

Primary 4 Science » Primary 4 Science (Term 4)
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Mrs Ddl hung her clothes oul to dry i her backyard on a sunny day,

What is The main sounca of haat that dries the clothes?

A) Air
v' B) Sun
C) Bird
D) Plants
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 1st Aug 2021
Last Modified: N/A
QID#: 28,587,810
Question 13 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Hen made a model Bghthouse using a cerdboard tube, & paper cup, a It light

buth, some wires and & ballery

— cardboard iube

Hen wanled to make his modal lighthause shine more brightly,

Which ona of the following should Ken uss to replace the paper cup with?

A) steel cup

B) ceramic cup
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C) styrofoam cup

v' D) clear plastic cup

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 1st Aug 2021
Last Modified: N/A
QID#: 28,587,817
Question 14 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which of the following are not characteristics of insects?

3 body parts

A

B 3 pairs of legs
C give birth to young alive
D

outer covering of feathers

A) AandBonly
B) B and C only
v' C) CandD only

D) A, BandD only

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 1st Aug 2021
Last Modified: N/A
QID#: 28,587,822
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Travia placed four similar cubes mads of different materials, P, O, Rand §,ina
container of waler. The diagram shows his cbesnalion

contsines of wakar

The disgrarn below shows Travie' flah Bewl,

Ha wanied o make some desorative pebbica o put in his fish bowl,
YWhich material, P, O, R o S, wauld be tha best for Travis to uss?

A) P
B) Q
v C) R
D) S
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 1st Aug 2021
Last Modified: N/A
QID#: 28,587,830
Question 16 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which of the following shows the correct stages in the life cycle of a flowering plant?

A)

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit 11/56


http://drive.google.com/uc?export=view&id=1jSf6YA4Su5G29bvb80zzmgVrL7oHDMzD
https://www.classmarker.com/a/tests/qb/manage/?test_id=1790987&question_id=28587830
https://www.classmarker.com/a/tests/qb/manage/?test_id=1790987&question_id=28587830&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1790987

8/6/2021

B)

v C)

D)
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seed
young _ adult
plant plant
seed
E‘dll“. 4 flower
plant
seed
adult _ young
plant plant
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€gd

adult young
plant plant

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Sun 1st Aug 2021

Last Modified: N/A

QID#: 28,587,864

Qu estion 17 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

The diagram shews the human digesthe systam,

Whieh af the follssing cormactly ideaiifias the parts of he digeste syalem whars
digestion starts and absorption of water from undigesbed fool 7

A) Digestion starts here | Absorption of water from undigested food

R P

B) Digestion starts here | Absorption of water from undigested food
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|R Q

C) Digestion starts here | Absorption of water from undigested food

S P

v D) Digestion starts here | Absorption of water from undigested food

S Q
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Sun 1st Aug 2021
Last Modified: N/A
QID#: 28,587,880
Question 18 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

iudy [he chard below,

Farts ol a plant |

Does it become a flowar
.!lrﬂ_.q sead

Which one of the folowing ks correct?

A) | Question A B

Does it hold the plant upright? | fruit

v B) Question A B

Does it grow into a flowering plant? | spore

[ I ]
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C) |Question A B
Does it grow into a non-flowering plant? | leaf

D) |Question A B
Does it grow into a non-flowering plant? | spore

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 19

tha beain.

aulsida the glass™T

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 20

Muiltiple Choice
No

Sun 1st Aug 2021
N/A

28,587,894
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Primary 4 Science » Primary 4 Science (Term 4)

James placed an emply giass and a smisll ball into a basin of water as shown in
the diagram below. When the glass touched the boltom of the basin, he
observed thal the waler level inside the alass wes lower than the water lavel in

Homever, the ball still Noated on the water 35 shown below,

glass

| tall

— basin of waler

A) The ball in the glass is light.

¥ B) The air in the glass occupied space.

Multiple Choice
No

Sun 1st Aug 2021
N/A

28,587,905

C) The ball pushed the water out from the glass.

D) The airin the glass has a greater mass than the water.

Which of the fofiowing explains the diference in te water leval Insida and

Primary 4 Science » Primary 4 Science (Term 4)
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Barlus had a flost a5 showa in the diagram below, When he blesw more air inta
the float, bo obsarved that thi size of the float remained the zama.

Which one of the following best explains hes obsanation?

A) Air has mass.
B) Air takes up space.
v" C) Air can be compressed.

D) Air has a definite shape.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 2nd Aug 2021

Last Modified: N/A

QID#: 28,590,567
Question 21 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Lucas placed two plites in an air-conditioned room of 23°C and want ofl 1o play,
Bath plates were of gimilar aize bul made of different matarisis.

Plate B

When Lucas retumed and touched tha plalas, plale A falt colder i the ouch
than plate: B,

Which ona of the fokowing is most likely the reason why Lucas falt that plale. A
was colder than plate BT

A) Plate A lost more heat to Lucas' hand than plate B.
B) Plate A lost more heat to the surroundings than plate B.
¥v' C) Plate A gained more heat from Lucas' hand than plate B.

D) Plate A gained more heat from the surroundings than plate B.

Question Type: Muiltiple Choice
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Date Added:

Last Modified:

QID#:

Question 22

A) Beaker W
B) Beaker X
C) BeakerY

v’ D) BeakerZ

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 23

Basker W

No

Mon 2nd Aug 2021
N/A

28,590,571

Multiple Choice
No

Mon 2nd Aug 2021
N/A

28,590,576
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Primary 4 Science » Primary 4 Science (Term 4)

Jars sel up an axpeonrment ag shown below, She placed kca cubes of similar size
Into ldentical beskars, W, X, Y and Z.

Bopkor X

Beakers W, X and ¥ contained different amounts of waler measwing F5°C

Based on the sat-ug, which ioe cube in the beakers abowe would take e longesd
tirme b el completsty?

Primary 4 Science » Primary 4 Science (Term 4)
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Wally absenmd hal moet of Bhe waler pipes al homao aoe made of copper. a Lype of metd
Theae pipes traneparl cobkd water b the laps in The house,

He suggeeled 1o his dod thal tha water plpas ba coahed with material X, 8 poor conducior of

bt
mmmmwpﬂdumrmwhmumammmm X

cuier aurfecs oonted wilh material X

.

Pt ol ha wailer pips

Which of the falowing sistaments cormecily describe whal will happan wivwn Fe pipes ars
coated with maserial X7

& The surraunding air #ill oss Mt gquickly to the cold walar.
B Tha ookl water wili gain hest siowly from the surrounding &i.
o Tham“mwmmmhhﬂnmhmmnmddﬂ.

A) AandB only
B) Band Conly

C) AandConly

D) A,BandC
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,580
Question 24 Primary 4 Science » Primary 4 Science (Term 4)

.EEHE Cresisd B 1EI:" usng 8 wooden e, 3 icnch mhlﬂ:ﬁﬂ at oma end and an
image al lhe ofher end of e hobe, He made a hiole at te cenlre of the wooden
tuba to look at the image,

Zena's E"'Eifhulu
Enmgﬂ—EF . q -1_Inn:.h ligght
H‘D-D-d-B'I‘[ tuba

When he swilched on the tarch lighl, he could rol ses the imaga,
Which of tha following could be the reasom why Zene could not ses the mage?

A) Lightis a form of energy.
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B) There was no source of light in the tube.
C) The wooden tube does not allow any light to pass through.

v D) Light reflected off the image was not reflected into Zane's eye.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 2nd Aug 2021

Last Modified: N/A

QID#: 28,590,587

Question 25 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Karen orested & sheep puppel using some piecas of cardboard and aleminium

foil, a8 shown in diagram 1.
aluminim sl
fice il
caribhoand

Diagram 1 Diagram 2

cardboard

Sl lhen drew in the face and ears of the shesp using a marker, &5 shown In
diagram 2

The diagram beiow shows Karan's seb-up of the sheep puppet,

ECrean

¥ihen Karen shone a torch on her puppet, she saw 8 shadow of the puppst on
thes waall.

Which cna of the following Is the: shadow hat Karen saw on the wall?

v A)
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B)

C)

D)
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 26

Gabriel studied two animals, P and Q. At
ochesrvations as shown in the tsble balow

ClassMarker - Manage Test

Multiple Choice
No

Mon 2nd Aug 2021
N/A

28,590,609

Primary 4 Science » Primary 4 Science (Term 4)

the and of his sludy, he racorded his

bl A.nlmls. ]
P a

has 6 lege Mo Yas =

reproduce by laying eggs : s Yes

the young Fves in the water Mo Yus

A |p Q

mosquito | chicken

B) |p Q

mosquito | butterfly

Vo |p Q

chicken [ mosquito

D) |p la

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit

Which one of the following comectly represents animals, P and Q7
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I butterfly ‘ mosquito |

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 2nd Aug 2021

Last Modified: N/A

QID#: 28,590,621

Question 27 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

A bar magnet was placed near a plastic plate of steal pins. i was obeerved that
nona of the pins were attracted to the bar magnet.

bar magnet
slan| phirs

\ !5 :.-“ Lk alesleals J_—phﬂhplaw

Which ane of the following s a possible reason for the chsanation?

A) The bar magnet repelled the steel pins.
B) The pins were attracted to the plastic plate.
¥ C) The magnet was too weak to attract any pins.

D) The pins were not made of a magnetic material.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 2nd Aug 2021

Last Modified: N/A

QID#: 28,590,628

Question 28 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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A steel bar AB was magnefised using ihe stroking method a5 shewn in Diagrsm 1
E:'Fagram 2 shorvs the magnesc poles of A3 afier il was magnelised.

st

Diagram 1 Diagram 2

Sleel bar CD was magnetised as shown in Diagram 3,

Diagram 3

Which of tha following dimgrams (P, O or R) do mol show a possible armangament
of he bwo tare, AB and CO, afier thay ware magmnatisead 7

L] h B
s LA BT ]
|i: =]
P Q R
A) PandQonly
¥v' B) PandR only
C) QandRonly
D) P,QandR
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,633
Qu estion 29 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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The diagram shows (ha slages in tha Ehe cycle of a grasshopoer,

£l

Name stage P.

Accepted answers:

v adult

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A

QID#: 28,590,637

Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Question 30

The diagram shows the $lages in tha Be cycle of a grasshopoer,

Name one other animal that has a similar life cycle as a grasshopper.

Accepted answers:

¥’ Cockroach

Question Type: Free Text
Date Added: Mon 2nd Aug 2021
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Last Modified: N/A
QID#: 28,590,641

Question 31 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Alice placed twa ring magnets, A and B, through a holder as shown balow.

heider

- magnat A

magnet B

The holder was made of plastic and was not attracted to the magnets.

Plastic is a material.

Accepted answers:
¥’ non-magnetic

¥’ non - magnetic

Question Type: Free Text

Date Added: Mon 2nd Aug 2021

Last Modified: N/A

QID#: 28,590,649

Qu estion 32 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Alica placed two ring magnets, A and B, through a holder as shown balow.

hodder

— magnat A

magnet B

Why was magnet A floating above magnet B?

Magnet B was magnet A.

Accepted answers:
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v’ repelling

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,655

Question 33

10 stiokes mltﬂtﬂ__
_'\-.h‘
. o \

¢ o, )
o 5
Rad X Fod

Baoth rads became magnets and wars used o attract similse pirs:
¢} Cinde the comest amewer balow.

th::h:hd{hm pina than / the same numbar of pins as / more
o

Choose the correct answer below.

A) less pins than

B) the same number of pins as

v" C) more pins than

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Mon 2nd Aug 2021
Last Modified: N/A

QID#: 28,590,665

Question 34

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit

Primary 4 Science » Primary 4 Science (Term 4)

Alice sfreked o sirnilar ron rods X and Y with tha sama magrot a5 shown balow,

n
piris than )

Primary 4 Science » Primary 4 Science (Term 4)

1 pt

1 pt
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Ram shines a toich on-a ball and a shadow s Tormed on a smookh wall.
torch b wall
A shadow is formed when light is by an object.
Accepted answers:
v blocked

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,671

Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Question 35
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Ham shings a lorch on-a ball and a shadow & formed on a smookfh wall.

]
t_‘tjﬁ®
g

torch bl wiall

Draw the shadow of the ball that is formed on the wall.

(1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,680

Correctly answered feedback
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Incorrectly answered feedback

Question 36 Primary 4 Science » Primary 4 Science (Term 4) 3 pts

Match the functions to the organ systems.

Clue Match

supports our body and gives it shape Skeletal System
Points: +0.5 =0

helps different parts of the body to move Muscular System
Points: +0.5 =0

takes air into and out of the body None
Points: +1 =0
transports digested food, water and oxygen Circulatory System
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to all parts of the body

Points: +1 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,687

Question 37

State what digestion is. (1 mark)

designed in such a way that it requires

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,690

Correctly answered feedback

Incorrectly answered feedback

Question 38

diges| completely faster,

manual assistance.

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was

Digestion is the breaking down of food into simpler substances.

Digestion is the breaking down of food into simpler substances.

Primary 4 Science » Primary 4 Science (Term 4)

Aurelia wanled to find out If cubting up food into smaller pieces helps the food 1o

The diagram shows her experimental sel-ups, A and B.

s i 3 ————
digestive
..-"‘"f juica ‘H““"“-..
_____ T food _.:__' e H
— e v

Set-up A
Variable: Amount of digestive juice

v A) Keep the same

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit
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0.5 pts
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B) Change

Question Type: True False
Date Added: Mon 2nd Aug 2021

Last Modified: N/A
QID#: 28,590,748

Primary 4 Science » Primary 4 Science (Term 4) 0.5 pts

Question 39

Aurelia wanled to find out if culting up food into smaller pieces helps the food lo
digest completely faster,

The diagram shows her experimental set-ups, A and B,

- hreakar ——

digestive
A Juica T

Variable: Size of food piece(s)

A) Keep the same

v' B) Change

Question Type: True False
Date Added: Mon 2nd Aug 2021

Last Modified: N/A
QID#: 28,590,752

Primary 4 Science » Primary 4 Science (Term 4) 0.5 pts

Question 40
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Aurelia wanled to find out If cubting up food into smaller pieces helps the food 1o
diges| completely faster,

Tha diagram shows her experimental set-ups, A and B,

— bheaker —
fdig:esﬂ'm
T
_'H.,.-' ,IJH:E ‘H"“hq““_
B it
Set-up A
Variable: Mass of food
v A) Keep the same
B) Change
Question Type: True False
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,755

Question 41

A juics T~

— beaker —

digestive

Primary 4 Science » Primary 4 Science (Term 4)

Aurelia wanled to find out if culting up food into smaller pieces helps the food lo
digest completely faster,

The diageam shows her expermental set-ups, A and B,

= ——

—_—

B) Change

Question Type:

Set-up A

v A) Keep the same

True False

Variable: Temperature of digestive juice

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit
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Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,759
Question 42 Primary 4 Science » Primary 4 Science (Term 4)

Aurelia wanled to find out If cubting up food into smaller pieces helps the food 1o
diges| completely faster,

The diagram shows her experimental sel-ups, A and B.

o B ——

digestive
A juica T

5 v B

Sel-up A Sat-up B

Based on the results of her experiment, Aurelia concluded that cutting up food into smaller pieces helps
the food to digest completely faster.

What observation would show that her conclusion is correct? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,771

Correctly answered feedback
After a certain time, there will be no food pieces in set up B but there will still be food pieces in A.

Incorrectly answered feedback
After a certain time, there will be no food pieces in set up B but there will still be food pieces in A.

Question 43 Primary 4 Science » Primary 4 Science (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit

0 pts
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Animals W, X, ¥ and Z sre clazsiflied as shown.

Lay aggs?

Has scalest

ng

Lay eggs?

Based on the classification above, describe the characteristics of animal W. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,781

Correctly answered feedback

W has scales and lay eggs.

Incorrectly answered feedback
W has scales and lay eggs.

Question 44 Primary 4 Science » Primary 4 Science (Term 4) 0.5 pts
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Animals W, X, ¥ and Z are classified as shown.
yes w
Lay aggs?
yes
e X
Has scalesT
ng ¥es /'| Y
Lay eggs?
i Z
Study the picture shown below.
Fill in the blank with the letters, W, X, Y or Z from the diagram shown above.
Animal
Accepted answers:
v Animal W
v
Question Type: Free Text
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,803
Question 45 Primary 4 Science » Primary 4 Science (Term 4) 0.5 pts
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Animals W, X, ¥ and Z are classiflied as shown.
yes w
Lay aggs?
yes o W
Has scalesT
no ¥ES /'| X
Lay eggs?
i Fa
Study the picture shown below.
Fill in the blank with the letters, W, X, Y or Z from the diagram shown above.
Animal
Accepted answers:
v' Animal Z
vz
Question Type: Free Text
Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,811
Question 46 Primary 4 Science » Primary 4 Science (Term 4) 0.5 pts
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Thee disgram shows insacts M ands N,
insach
young adult young
Sy the classification chan baliow,
Insacts
I
| ]
F-atags life opcle 4-stage life cycle
I [
| | I |
Al with Adul withowd Adult with Audull wiltheud
wings wings Wings wings

| |

P (o]
Which group P, Q, R or S do insect M belong to?
Insect M - Group
Accepted answers:

v Q
v’ Group Q

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Mon 2nd Aug 2021

N/A
28,590,813
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The disgram shows insacts M and N,
insacl #A
young adult young
Sludy the classificalion cher below,
Insmcks
I
| i
F-atags life opcle 4-stage life cycle
I [
| | | |
Al with Adul withowd Adult with Audull wiltheud
wings wings Wings wings
| I
P (o]
Which group P, Q, R or S do insect N belong to?
Accepted answers:
v Group R
v R

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Mon 2nd Aug 2021

N/A
28,590,818
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Condition | Result obsarved in each pot
| Pot Sof | Ught T Appearance of the 3 seeds on Day &
A, dry absant G 8 G
B wel absenl E E %
| |ma| @ G @
(] Wel preEsan g

Date Added:
Last Modified:
QID#:

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit

Question Type:

Essay

Mon 2nd Aug 2021
N/A

28,590,825

Correctly answered feedback
The light received by the plant.

Incorrectly answered feedback
The light received by the plant.

Question 49

Based only on the results given, state the condition that did not affect the growth of the seeds. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 4 Science » Primary 4 Science (Term 4)
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Jdack grew some seeds of a plant n four pois in his neom,
In each pod, he placad 3 seede. The candifions and results are shown balow.

ClassMarker - Manage Test

Condition | Result obsarved in each pot
| Pot Sof | Ught T Appearance of the 3 seeds on Day &
A, dry absant G 8 G
B wel absenl E E %
| o |==| G ¢ @
(] Wel preEsan g

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,832

Correctly answered feedback
Without any light, plant B still grew.

Incorrectly answered feedback
Without any light, plant B still grew.

Question 50

Using the results given, explain your answer in the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 4 Science » Primary 4 Science (Term 4)
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Jdack grew some seeds of a plant n four pois in his neom,
In mach pot, he placad 3 seede. The condfions and results ars shown Balow.

Condition | Result obsarved in each pot
| Pot Soll Lighi | ippm:mnﬂﬂ‘uﬂmdsnnﬂafﬁ

¢ ¢

iy

A dry absant

¢ ¢

Jack wanted to find out if the seeds needed water to grow.

Which 2 pots should he compare to make a conclusion? Explain your answer. (2 marks)

o wel presan

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,590,844

Correctly answered feedback
A and B. There is only variable changed and that is the presence of water.

Incorrectly answered feedback
A and B. There is only variable changed and that is the presence of water.

Question 51 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit 41/56


http://drive.google.com/uc?export=view&id=19GoBKUQ8ikwoVRjWPyL_1oTJnOKXf9Sr
https://www.classmarker.com/a/tests/qb/manage/?test_id=1790987&question_id=28590844
https://www.classmarker.com/a/tests/qb/manage/?test_id=1790987&question_id=28590844&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1790987

8/6/2021

ClassMarker - Manage Test

May redeased 8 oy car from the lop of ramp C. The oy car had & magnst aftached bo
the frond of IL, a8 ehown in disgram 1,
toy car

magnet

ramp C

Dingram 1
by observed that tha car refled down rmmp C, when it was minased,

Then, May placed obsect T al @ fived point at the botiom of the ramp ©, a8 shown in
dEagram 2

midgnel

—object T
T_I___ o

[ 1|
Magram 2

Diagram 3 shows what happensd when the oy car was ralessed from the lop.
toy car

magnat

—

abject T

Diagram 3

The toy car rollad down but stopped a distance away from object T as shown in
dizgram 3,

Explain why. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,020

Correctly answered feedback
Object T repelled the magnet on the toy car as the like poles of two magnets facing each other

the two magnets are repelling away from each other.

Incorrectly answered feedback
Object T repelled the magnet on the toy car as the like poles of two magnets facing each other

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit

repels each other. Thus the toy car stops rolling down at a certain distance away from object T as

repels each other. Thus the toy car stops rolling down at a certain distance away from object T as
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the two magnets are repelling away from each other.

Qu estion 52 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Mey rapeated S egperiment using ramp D a5 shown, She did nod uss object T

by Car

__ magnat

ramp D

When Mey released the foy car from the seame haight, she obsecved that it did not
miove at all.
Suggest a possible reason for her observation. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,030

Correctly answered feedback

The toy car's magnet was attracted to ramp D.

Incorrectly answered feedback
The toy car's magnet was attracted to ramp D.

Qu estion 53 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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Meay rapeated fwe experiment using ramp D a5 shewn. She did not uss object T
Loy Car

magnat

ramp D

When Mey released the oy car from the eame height, she obsecved thet it did not
miowe at all,

Based on the observation, name one material that ramp D could be made of. (1 mark)

Accepted answers:

v’ Cobalt

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,038

Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Question 54

Mrs Yan conduciad i experimant, shown belaw, in 8 cark room. She wanled & fnd
ot b mwuch Eght ks biocked by mefenale, D, E and F.

ma
Eghl sersor
connecied (o
lghted torch gl oo
=
pasiton £

Gha placed materials O, E and F, 81 posifion Z, one a1 the time. She recomded tha
amount of light deleciad by tha light sensar in the graph below,

Mmound of Ight (units)

—= Malerials

Based on the graph, which material, D, E or F allows no light to pass through? (1 mark)

Accepted answers:
v'D

v’ Material D
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Question Type: Free Text

Mirs Yain condwcad o exparimant, shown below, in 8 cark room. She waniled & fnd
ot haw much Eght ks biocked by mpterais, D, E and F.

ma
Eghl sersor
gonnecied 1o
Ighted toreh & oo
e
pasibon 2

Sha placed materials O, E and F, &% paaiion Z, one 2t he time. She reconded fha
amount of light deleciad by tha light senssrin the graph below,

Amiound of Bight [units]

& Malerials

Mrs Y'en ioachas at @ schao tor the heating mpained. She designed a mask thal has
a special part O that would alw the childeen to cbasrva hae . maverments searly
B urharsiand whal b is saying,

pari 3

Based on the information given, which one of the matesials, 0, E or F, should
she u=a fo make pat OF

Liamng ifomalion gken, esplain your anesar,

Accepted answers:
v E

¥ Material E

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,165

https://www.classmarker.com/a/tests/test/?test_id=1790987&trk=edittest_inrow_edit

Date Added: Mon 2nd Aug 2021

Last Modified: N/A

QID#: 28,591,136

Question 55 Primary 4 Science » Primary 4 Science (Term 4)
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Correctly answered feedback

E. E allows most light to pass through so when Mrs Yan is talking in class it allows the children to
observes her lips movement making it clearer for the students to understand what she is saying.

Incorrectly answered feedback

E. E allows most light to pass through so when Mrs Yan is talking in class it allows the children to
observes her lips movement making it clearer for the students to understand what she is saying.

Qu estion 56 Primary 4 Science » Primary 4 Science (Term 4)

Pam is looking ata gift box as shown,

Based on the diagram, describe how Pam is able to see the gift box. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: Mon 2nd Aug 2021
QID#: 28,591,204

Correctly answered feedback

Light from the lamp that is travelling in a straight line is reflected off the gift box into Pan's eyes
enabling her to see the gift box.

Incorrectly answered feedback

Light from the lamp that is travelling in a straight line is reflected off the gift box into Pan's eyes
enabling her to see the gift box.

Qu estion 57 Primary 4 Science » Primary 4 Science (Term 4)
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ABC Company Insalls specd cameras along roads. The diagrem shows spaed
camesas on the fop of lamp posts locabad al fwa points, A and B, akng & rmad

Al each point, the spadd camera iakes 3 plelura of the car pasaing by, The piclures
iy 16 caleidals how Tasl he car bed raallad from poind A lo point B Tha phohures
will ooy be clenr if the surmounding Fight i very bright.

During the day, the lamps are switched off.

Name the source of light for the speed cameras.

Accepted answers:
¥’ The sun

v Sun

Question Type: Free Text

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,212

Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Question 58
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ABC Company Insalls specd cameras along roads. The diagrem shows spaed
cameras on the fop of lemp posts located al twa points, & and B, akong a mad

Al each point, the spadd camera iakes 3 plelura of the car pasaing by, The piclunes
sl 10 calelssls how Tast the car Fad ravalled from point A fo point 8. The photures:
will oty be clenr if the susrounding Fght s very bright.

One night, the picture taken by the speed camera at point A was not clear while the picture taken by
the speed camera at point B was very clear.

ABC Company found out that one of the light bulbs of the lamp at point A was not working.

Using the information given, explain why the picture taken by the speed camera at point A was not as
clear as the one taken by the speed camera at point B. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,247

Correctly answered feedback
The source of light come from the Sun.

Incorrectly answered feedback
The source of light come from the Sun.

Qu estion 59 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Matter like liquids have mass and occupy space. (1 mark)
State two other properties of liquids.

Property 1:
Property 2:

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,257

Correctly answered feedback

Property 1: Has no definite shape and had a fixed volume.
Property 2: Liquid has definite volume.

Incorrectly answered feedback

Property 1: Has no definite shape and had a fixed volume.
Property 2: Liquid has definite volume.

Qu estion 60 Primary 4 Science » Primary 4 Science (Term 4)

Loak af the containers, A, B and C, below, Each can be used b measum
wiluma of lguid up b 100 em®

oo 1 gﬁ) ‘]‘m
£
A B
Which container, A, B or C, can scourately messure 78 cm®? [1]
Explain your answear,

Which container A, B or C can accurately measure 78cm3? Explain your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,285

Correctly answered feedback

C because it has a lot of lines which enables the user to measure 78cm® more accurately.

Incorrectly answered feedback

C because it has a lot of lines which enables the user to measure 78cm® more accurately.

Qu estion 61 Primary 4 Science » Primary 4 Science (Term 4)
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Billy fills & eyvinge wilh same water as shown in e disgram below. He pushes the
plinger imeards into the syringe until he could nol push any lonper.

Hale whial will Fappan ia e volums of aF and wader (increase, decrease or &
remain the same) in tha syringe afer BEly pushas the plungar wards.

i) vaturme of sir

1) volume of waler:

Match the options below:

Clue Match

Volume of Air: Decrease

Points: +1 =0

Volume of water: Remain the same
Points: +1 =0

Incorrect match option Increase

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Mon 2nd Aug 2021

Last Modified: N/A

QID#: 28,591,300
Question 62 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Ms Tan u=es a show cooker shown in the degam below,

It lakes 5 long period ko cock food without needing anyone to monttor, Thi ghow cooker takes
8 kong lime ko reach the lemgenature (hal & nesded o cook the food.

Thelid of thes slow cookar fits the pod parfeclly i ensure ksl the hot air does not BACARE
fres s pal

rubbar r=andis
glaes fid

A healing slamant, shown balow, is foursd &l tha base of tha slow eooker,
it is mada of matal

Thia hagting sleman] heats up the pol of the siow cooter, The dial contrals tha
temperatune of the heatng alamnt,

Thi tatis shows e Lime 1aken o cook e chicken al diferent Bmparatures,

Tamparature s to cook the Time tekan (o cook the
L chicken {"C) . chicken (h)
___55 2
50 . 4

How does the temperature set affect the amount of heat given off by the heating element in the slow
cooker? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,315

Correctly answered feedback
The lower the temperature, the lesser heat given off.

Incorrectly answered feedback
The lower the temperature, the lesser heat given off.

Primary 4 Science » Primary 4 Science (Term 4)

Question 63
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Ms Tan u=es a show cooker shown in the degam below,

It lakes 5 long period ko cock food without needing anyone to monttor, Thi ghow cooker takes
8 kong lime ko reach the lemgenature (hal & nesded o cook the food.

Thelid of thes slow cookar fits the pod parfeclly i ensure ksl the hot air does not BACARE
fres s pal

rubbar r=andis
glaes fid

A healing slamant, shown balow, is foursd &l tha base of tha slow eooker,
it is mada of matal

Thia hagting sleman] heats up the pol of the siow cooter, The dial contrals tha
temperatune of the heatng alamnt,

Thi tatis shows e Lime 1aken o cook e chicken al diferent Bmparatures,

Tamparature s to cook the Time tekan (o cook the
L chicken {"C) . chicken (h)
___55 2
50 . 4

The pot is made of ceramic. Explain why a ceramic pot is more suitable for cooking than a metal pot. (2
marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,328

Correctly answered feedback

Ceramic is a poorer conductor of heat and so the pot will conduct heat from the heating element to
the food more slowly.

Incorrectly answered feedback

Ceramic is a poorer conductor of heat and so the pot will conduct heat from the heating element to
the food more slowly.
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Question 64 Primary 4 Science » Primary 4 Science (Term 4)

O day, Ms Tan oould nol find the glass g of the slow coclar, 3o, she used a matad
Fied Hhsal gle could find.

The diagram shows the medsl lid that Me Tan ussd,

== matal handk

metal poyer =—

Whan Ms Tan ralumed Eom work that day, she realised that s food was nal fully
cooked. Her mother said that i was bocaisa of fha st Bd ahe gsed,

How did the maial id cause tha food to be not fully cockad? [1]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,342

Correctly answered feedback
Metal is a good conductor of heat and so food in the pot will lose heat to the cooler surrounding air
faster.

Incorrectly answered feedback
Metal is a good conductor of heat and so food in the pot will lose heat to the cooler surrounding air
faster.

Qu estion 65 Primary 4 Science » Primary 4 Science (Term 4)
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Susen pours hod waled of the same lemperaturse into fowr Smilas lwbes, The amound
of bt waater In each wbe B diffecent sa shown balow,

hot water ——g=
S L L

10ml 20 mil a0 mil 40 mi

The water in each ube codls down, Susan measures and records down he
lemperatune of watsr in sach tube at the end of the experiment.

The graph shews her resuls,
&
Which line (A, B, C or D) shows the results for the tube with 40 ml of hot water? Explain your answer.
(1 mark)

@ =
'ﬂ'l-'l

:

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,382

Correctly answered feedback

A, as 40ml of hot water has the most amount of heat and so it takes the longest time to lose heat.

Incorrectly answered feedback

A, as 40ml of hot water has the most amount of heat and so it takes the longest time to lose heat.

Qu estion 66 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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The dagrarm shows. & coslar bag. A cooler bag is used lo kéep dinks cold lor a
longer imea.

A piece of foam, shown below, is used in betwean the inner and outer ta of 1h
bag. The plece of foam consists of many finy holes, it =

Explain how the foam help in keeping the drinks cold for a longer time. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,405

Correctly answered feedback

Air trapped in the foam is a poor conductor of heat. So it would conduct heat from the surrounding
air to the drinks slowly.

Incorrectly answered feedback

Air trapped in the foam is a poor conductor of heat. So it would conduct heat from the surrounding
air to the drinks slowly.

Question 67 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Kate bought a container of hot soup and a can of cold drink and placed them in the cooler bag.

When she reached her office, after 20 minutes, her container of hot soup had cooled down and the can
of drink was no longer cold.

What could have caused the hot soup to cool down and the can of drink to be not as cold as when she
bought it? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay
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Date Added: Mon 2nd Aug 2021
Last Modified: N/A
QID#: 28,591,429

Correctly answered feedback
The hot soup loss heat to the can of drink while the can of drink gained heat from the container of
hot soup.

Incorrectly answered feedback
The hot soup loss heat to the can of drink while the can of drink gained heat from the container of
hot soup.
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